PowerStak Lite

PPS1500-62NAS

PowerStak Lite
For Light Duty Use

Installation, Operation

and Service Manual
Model Number
Serial #
Date Placed in Service

IMPORTANT: READ CAREFULLY
BEFORE INSTALLING OR OPERATING LIFT

Part orders are subject to a $50 minimum charge.

December 2011



PowerStak Lite
For Light Duty Use

Presto Lifts Limited Power Stacker Warranty Policy

Presto Lifts warrants the Power Stacker against defects on the mast, fork carriage, chains, pumps,
DC motors, controllers, cylinders and wiring harnesses from faulty material and workmanship for a
period of one (1) year from the date of invoice.

All wear items such as batteries, wheels, motor brushes, seals, bearings, hydraulic hoses, all switches,
battery chargers and forks have a limited warranty against defects in faulty material and workmanship
for a ninety (90) day period from the date of invoice and 30 day limited warranty on labor. Please
note that prior authorization from Presto Lifts is required on all warranty work.

There are no implied warranties of any kind, more specifically; there are no warranties of merchant-
ability or fitness for any particular purpose. Presto Lifts” sole warranty shall be as set forth in this
limited warranty. Presto Lifts will elect to repair or replace a defective component without charge,
if any components should become defective within the limited warranty period. Proof of purchase is
required for warranty. The charge for shipping the defective component is the responsibility of the
buyer and must be accompanied with an RGA number. The shipping charge to return the component
to the buyer is the responsibility of Presto Lifts, Inc.

This limited warranty does not cover labor expense for removal or reinstallation of components
after thirty days. This limited warranty shall not cover, among other things: damages resulting
from foreign matter or water, failure to provide reasonable and necessary maintenance, and if
applicable, use of product while charger is plugged into an AC outlet, or failure to follow operat-
ing instructions. The limited warranty is not valid for damage resulting from negligence, accident,
unreasonable use, abuse or misuse, exceeding data plate capacities or altering the product without
Presto Lifts authorization.

Presto Lifts expressly disclaims and excludes any liability for consequential, incidental, indirect
or punitive damages or financial loss to people or property resulting from any breach of warranty or
the operation or failure of this product.

Presto Lifts makes no representation that this product complies with local, state, or federal safety/
product standards codes. Should this product fail to comply in any way with those codes, it shall
not be considered a defect of materials or workmanship. Presto Lifts shall not be held liable for any
damages resulting from noncompliance. It is the dealer’s responsibility to exercise this limited war-
ranty. This limited warranty is provided to the original purchaser (defined as the original end user)
and is nontransferable. This constitutes the complete and final agreement involving Presto Lifts and
limited warranty obligations for products.

This manual was current at the time of printing. To obtain the latest, most updated version,
please contact the Customer Service Department or go to our website: www.PrestoLifts.com
-- you will find a complete list of current Owner’s Manuals to print.

PRESTO OWNER’S MANUAL Page 2 POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

TABLE OF CONTENTS
SECTION 1:
LIMITEO WWAITANTY ...ttt h e st e bt s e e R e b e £ bt e b et e b e e e b e e b e e et e e e b e ebe e ebenaneas 2
a0l [0o1 oo OSSOSO PRSI 4
SECTION 2:

SECTION 3:
INSEAITATION. ...t
AL INSPECLION L.ttt
B. Removing from Pallet
C. Preparation FOr USE.... ... i ettt ettt b ettt e e st et e e s e eeene e b et e a e nb e st eb et ene st esesaeneenas
SECTION 4:
(@] 4 1ST - [0 TSSOSO
A. Operating Instructions
B. Daily Operations MainteNanCe ChECKS .........c..ciuiiieiiieieeiee ettt 11
Suggested Daily Operator ChECKIIST ... ..ottt 10
SECTION 5:
BAttery IMTAINTENANCE ... eveeeieete ettt ettt sttt e bt et e st e bt b e st et e e e bt e s eme e b e e eb e eeeseebe e ebeabeseebe e ereaaenea
A. Preparing to Charge a Battery
B Charging the Dattery ..o
C. Warnings and Battery INfO...........coooiiiiiiiiii e
D. Battery MaiNtEBNaNCE. ......cviuireeierierietesieeste ettt se e eene
E. Charger OPEIALION .......coueiiuiieeieite ettt sttt ettt e e st et et et e e s e st e b e e eb e eeeseebe e ebesbeseebeneereanenea
SECTION 6:
IVIBINEENANCE ...ttt bRkttt 12
A. Weekly Operations Maintenance ChECKS. ... 12
B. Monthly Operations Maintenance ChECKS ...........cccoiiiiiiiiieieee e 12
SECTIONT:
B Co 101 o] (=] g To o) £ [OOSR 13

ORDERING REPLACEMENT PARTS

RESTOCKING POLICY ..ttt bbbtk b b b £ £ b e b £ e b £ e bt e b e e st et ekt bt b e b e e b e e Reenb et e et et
LIST OF FIGURES:

FIgure 1: PPSLI500-62NAS ..otttk b bt b bbbt ee b bt bbbt b b 5
FIgure 2: PPSLI500-62NAS ..ottt ettt b bbbt b et s bbbt b et bbbt en e 14
Figure 3: PPS1500-62NAS EXPIOGEA VIBW .....c.iiiiiiiiieiieiieie ettt 15
FIGUIE 42 CYIINART VIBW ...ttt ettt b et e bt bt b e e beebeebenbe e e e e nee e ene e 17
FIgUre 5: CaSter WHEEH WIBW ...ttt ettt e et se e 18
FIGUIE 6: DFIVE UNIT VIBW .....eiiiiieeeie ettt ettt ettt b e bbb et e b e et e ee e e e e 19
FIQUIE 72 CONIIOL POU.....c.e ettt ettt ettt bt b ettt ebeebenbe s e e e e e ene e 20
Figure 8: StEering ASSEIMDIY ...ttt ettt ettt b et e sbe e e b e sbe e et e nee e ene e 21
FIGUIE 9: POWET UNIT VIBW ....eiie ettt ettt ettt b et et e e b et e e e nee e e e e 22
Figure 10: Carriage Assembly PPSTI500-62NAS ..ottt 23
Figure 11: Leg Assembly PPS1500-62INAS ..ottt sttt se e 24
Figure 12: Labels & Precautionary WarNiNgS...........ccieieiererierene ettt sae st see e ans 25
Figure 13-20: Wiring Diagrams (Prior to January 2011) .......ccoceueiieririeeeieeeeie e 26-33
Figure 21-23: Wiring Diagrams (January 2011 t0 PreSENnt) ......ccceoueieeerieeeieeeaese e 34-36

PRESTO OWNER’S MANUAL Page 3 POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

SECTION1
INTRODUCTION

This manual attempts to provide all of the information necessary for the safe and
proper installation, operation and maintenance of Presto Lifts Inc. battery oper-
ated, Power Stak. Itisimportant that all personnel involved with the installation,
maintenance or operator of the stacker read this manual. Additional manuals are
available upon request or at www.PrestoL ifts.com.

Each Presto stacker is equipped with nameplate, serial number and model iden-
tifications. Please refer to these numbers when ordering parts or requesting
further information.

The Presto stackers are designed for lifting, lowering and positioning a wide
variety of loads. WHERE UNIQUE SITUATIONS ARISE, WHICH ARE NOT
COVERED IN THIS MANUAL, CALL PRESTO LIFTS FOR FURTHER
INSTRUCTIONS.

The battery operated stackers are designed for in-plant/non-hazardous locations
only. They can be used in a 8' or larger aisle. These units are not for personnel
lifting.

PRESTO OWNER’S MANUAL Page 4 POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

Figure 1:
PPS1000-02NAS
4-3/4"
78-3/4"
50" ] ]
28-1/2" E 42
B4
n L m[ll,L Lié: pe-o/1e”
J B T F
1-3/16"
68-3/8"
4
R53” [
T
!
oo
\\ )
O
6" 28-1/4"
27-9/16" ot/ MIi?}D
SP-
::> MAX 1D
odfo o l
Ly

PRESTO OWNER’S MANUAL

Page 5

12/12/08

POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

SECTION?2
SAFETY

You must be trained and certified to operate this
powered stacker. Federal law states that only prop-
erly trained operators are permitted to operate a
powered industrial stacker and that your employer
must train you and certify that you are qualified.
(OSHA 1910.178 29QFR-7-1-06 Edition)

Presto lifts does not offer operator training. Op-
erator training programs may be offered by your
local Presto Lifts dealer or obtained online. Enter,
"powered industrial truck operator training™ into
a search engine.

The battery operated stackers are very powerful lifts
capable of doing large amounts of work.

DO NOT OPERATE THESE LIFTS WITHOUT
CAREFULLY READING THIS MANUAL. In order
to provide for the safe operation of these stackers,
Presto Lifts Inc. has identified certain hazards that
may occur during the maintenance and use of these
lifts. For safety reasons these units are designed to be
serviced or repaired in the fully lowered position. If
performed properly, this will greatly reduce the pos-
sibility of injury.

WARNING!

When servicing the unit:

1. Key should be in "OFF" position.

2. E-stop should be depressed.

3. Disconnect the batteries at the terminals.
* Do not perform any repair work on lifts if
there is a load on the forks or platform.
* Do not perform any repair work if the forks
or platform is in the raised position.
*  All personnel must stand clear of the lift
while in motion.
e Do not put hands or feet under the forks or
platform.
* Do not stand underneath the forks or plat-
form.
* Do not stand in front of the stacker while in
motion.
* Do not stand, sit or climb on the lift.
* Do not use the lift on soft, uneven or unstable
surfaces.
* Do not exceed the load center or capacity.

PRESTO OWNER’S MANUAL

Page 6

WARNING!
You or others around you can be seriously injured
or even killed if you don't use this stacker correctly.
Read and obey all warnings and instructions in this
manual and on the stacker. It is your responsibil-
ity before starting work to make sure it is in good
working order.

Always be alert to the area around you and watch where
you are walking. Be careful that you don't get pinned
or crushed between the stacker and a fixed object such
as a wall or post.
e Watch your hands and feet. A foot or hand
caught between the stacker and a fixed object will
be crushed or even cut off.
e If traveling forks first, keep both hands on
the control handle and be careful when changing
direction of travel. Keep your feet clear of the
stacker.
*  Keep the stacker under control at all times.
Operate at a speed that allows you to stop safely.
Be even more careful on slippery or uneven sur-
faces. Do not run over objects on the floor.
e Perform all stacker movements smoothly and
at a speed that will give you time to react if an
emergency occurs.

Tipovers and falls are very serious accidents; you can
be crushed or even killed. To prevent injury, know
where you are at all times and follow the rules of safe
stacker operation.
e Be careful when working around docks,
dockboards and trailers. Stay away from the
edge of docks and ramps. Check to make sure the
wheels of truck or trailers are chocked.
» Travel with the load or forks close to the
ground. Watch for overhead obstructions. Per-
form all stacker movements smoothly and at a
speed that will give you time to react in an emer-
gency.
e Keep your hands and feet away from all mov-
ing parts such as masts, chains, forks or wheels.
* Never stand on or under the forks, or allow
anyone else to stand on or under them. Never ride
on the stacker or allow anyone else to ride. There
is no safe place to sit or stand.
e Before you leave your stacker, be sure to
lower the forks to the floor. Shut the stacker off
with the key.

POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

WARNINGS

DO NOT use this stacker until you have been trained
and authorized to do so.

DO NOT operate until you have read all warnings and
instructions.

DO NOT exceed load center or load weight capacities
(check capacity plate).

DO NOT operate until you have checked the condi-
tions of the stacker: lift systems, forks, chains, and
cables.

DO NOT use if any part is damaged, worn or not work-
ing properly.

DO NOT use on ramps or inclines. Only smooth level
surfaces.

DO NOT use for lifting or carrying people.

DO NOT handle unbalanced, unstable or loosely
stacked loads.

DO NOT travel with forks or platform in an elevated
position.

DO NOT handle tall, unsecured or unstable loads that
could fall.

DO NOT allow people to stand or pass under forks or
platform with or without load.

DO NOT operate when parts of anyone’s body may be
close to mast structure or any moving parts.

DO NOT drop loads on platform or forks.

DO NOT alter or modify this stacker in any way.

SECTIONS3
INSTALLATION

A. INSPECTION:
Upon receipt of the stacker, inspect the equipment com-
pletely to determine if there is any shipping damage,

and that the lift is complete. Presto tests and inspects
every piece of equipment prior to shipment. If damage
is apparent, a freight claim must be filed with the freight
company. Do not use the stacker if there appears to be
any damage. With the stacker in a lowered position,
check the following:
e Check for signs of damage especially to the
back cabinet that houses the battery, electrical/hy-
draulic power pack.
e Check all electrical and hydraulic connec-
tions for tightness.
e Remove back panel.
1. Turn key switch to "OFF" position.
2. Push in E-stop and unscrew the red knab,
3. Lift off back panel. There is enough wire
to the key switch to allow the panel to be set
aside.
e Inspect for any bent or damaged parts.

B. REMOVING FROM PALLET

Each of the Presto stackers is shipped out on a pallet or
skid. Prior to removing the unit from the pallet or skid,
remove all tie down straps and packaging. Visually
inspect the unit as closely as possible.

With an overhead hoist or forklift, carefully pick up the
unit taking into consideration the center of gravity of the
unit. If you choose to pick the unit with an overhead
hoist, use a nylon sling and hoist with a minimum of
2,000-Ib. capacity. The nylon sling will not do any dam-
age to the steel construction of stacker. Pick the unit
up. On conventional masts use the top crossmember of
the lift. On narrow masts the cover must be removed
to access lifting equipment. Be careful of the stacker
swinging once fully lifted off the pallet or skid. Have

Operational buttons

—f:\ BELLY BUTTON SWITCH

PRESTO OWNER’S MANUAL

Page 7

11 LIFT UP

| L&— | LFTDOWN
(4] Horw

( SPEED CONTROL
DIRECTION CONTROL

POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

all personnel completely cleared from the area.

Pick the unit up approximately six inches above the
pallet or skid. Once raised, remove the pallet or skid
from below the lift. Do not move the lift around in the
air. Lower the stacker on the ground.

C. PREPARATION FOR USE

This stacker left our factory in new condition. It has
been inspected and weight tested to assure all perfor-
mance standards have been met.

Visually inspect the stacker for damage. Check for at-
tachments and accessories that may have been ordered.
If there is any damage or missing parts, report it to your
carrier and your Presto dealer immediately.

Remove all metal/plastic bands, cardboard and other
material used for shipping purposes.

Check to see if chains are in place, and that the lift
system is in working order. Inspect for oil leaks.

See instructions for removing back panel on pg. 5.

Connect battery cable. Check cables and wires on bat-
tery charger as well as battery.

Set up procedure for Power Stak
Straddle legs with 3 Bolts

NOTE: The Straddle legs must be adjusted to
the procedure below

1. Determine the required straddle leg dimension.

2. Relieve any weight from the legs. This may need to
be done one side at a time.

3. Adjust the legs and ensure both legs are positioned
equally.

Note: The Power Stak is meant to operate on a non
slip floor or surface. If traction is needed, Presto
Lifts offers an optional rubber wheel or a non-mark-
ing wheel.

Note: The travel speed is preset at the factory. For
travel speed adjustment, please contact customer
service at Presto Lifts 1-800-343-9322

Set up procedure for Power Stak
Straddle legs with 4 Bolts

®\

33

Straddle Leg Bolt
Tightening Procedure

1. Pre-tighten all bolts to
the bottom, but not too
tight.

Fully tighten bolt 1.
Next, tighten bolt 3.

aksown

Tighten all bolts to 85
foot pounds.

Last, tighten bolt 2. ==

Straddle Leg Bolt Tightening Procedure
1. Pre-tighten all bolts to the bottom, but
not too tight.

Fully tighten bolt 1.

PRESTO OWNER’S MANUAL

Page 8

Next, tighten bolt 3.
Next, tighten bolt 4.
Last, tighten bolt 2.
Tighten all bolts to 85 foot pounds.

oukwm

POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

SECTION 4
OPERATION

A. OPERATING INSTRUCTIONS:

Operational Speeds:
The Presto Power Stak is designed to operate at the
following speeds:

Rise speed empty: 24fpm

Rise speed loaded: 17fpm

Lowering speed empty: 13fpm

Lowering speed loaded: 31fpm

To Raise and Lower:

There are two buttons located on both sides of the
handle. The inside one is for raising the forks. The
outside one is for lowering the forks. When operating,
always make sure the load being lifted is within the
loading capacity of your stacker and the load has been
stacked safely on the pallet. Also, make sure that the
length of the forks corresponds to the length of the pal-
let. In this way, the load rollers will place themselves
in the opening at the end of the pallet, so that when you
raise the forks, you will not break the bottom boards
of the pallet. Always make sure that when entering the
pallet that the forks are in the fully lowered position.
Be careful when lifting pallets that are too short or too
long for the stacker. It might destroy your pallet by
breaking the bottom boards, and if the forks project
through the end of the pallet, the tips of fork may go
into the next pallet that is behind the pallet that you are
lifting, which may bend the tips of forks and overload
the capacity of the stacker.

To Travel:

To travel, rotate the butterfly controls throttle on the
upper part of the handle. When rotating the butterfly
control CW towards the forks, the stacker runs forwards
in the forks first direction. When rotating the butterfly
CCW towards you, the stacker runs backwards in the
handle first direction. Always make sure the stacker
clears any obstruction when traveling, and that your path
of travel is clear of people. Never carry loads above the
loading capacity of the stacker. It is suggested that when
traveling without a load, the forks be in the lowered
position. The speed of the stacker is increased by the
degree of the rotation in either direction; it functions

PRESTO OWNER’S MANUAL

Page 9

like a throttle. When you release your hand from the but-
terfly control, it automatically will resume to the neutral
position and the speed of the stacker will slow down.

To Brake:

Your stacker is equipped with a magnetic brake. The
brake is applied when the handle is in its vertical po-
sition between 10 — 15 degrees and lowered position
between 80 — 90 degrees. The brake could be released
when you pull down the handle at any point between
15 — 80 degrees. Always make sure the brake is re-
leased before operating the stacker. When the stacker
is running, you could brake the stacker by raising the
handle to its vertical position or lowering the handle to
its lowest position. Or, to turn the butterfly controls in
the opposite direction, the change in direction of the
motor will slow down, stop, and reverse the direction
of stacker. When parked, always put the handle in the
full vertical position with the brake applied and the
forks in lowered position.

Reversing Safety:

At the end of the handle there is a large, red reversing
bar (belly button switch) that is designed to protect
the operator from injury. When the operator runs the
stacker backwards, and the end of the handle comes
in contact with the operator’s body, the stacker will
automatically reverse direction and travel away from
the operator. When the reversing safety bar comes in
contact with your body during operation, immediately
release your hands from the butterfly control and put the
handle up to its vertical position or down to its lowest
position and the brake is on. The reversing safety bar
will automatically resume to its original position after
being activated.

Horn:
As standard equipment, a horn that is located on the
top of the handle.

AUTHORIZED OPERATORS SHOULD READ
AND UNDERSTAND ALL INSTRUCTIONS,
PRECAUTIONS AND WARNINGS.
IMPROPER USE OF THIS LIFT TRUCK
COULD RESULT IN INJURY AND/OR DAM-
AGE
TO LOAD AND EQUIPMENT.

e Inspect the lift for damaged or worn parts.
Do not use if not in safe operating condition.

POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

SUGGESTED DAILY OPERATOR CHECKLIST

WALK AROUND INSPECTION

1. Check general condition of lift (loose or broken parts, etc.).

2. Check for dented or scratched panels.

3. Look for broken or cracked welds, broken or worn rollers and
chains. Check for loose pins or fasteners.

4. Ensure condition of wheels are not flat spotted or chunked out.
5. Check for hydraulic leaks.

6. Make sure all precautionary labeling is in place and legible.

7. Check for hydraulic leaks

FUNCTIONAL INSPECTION

1. Check for proper operation of UP/DWN/FOR/REV controls.
2. Check operation of brake system.

3. Check for locations of belly button switch and horn.

4. Check for hydraulic leaks.

OPERATOR ID DATE

DO NOT USE LIFT IF NOT OPERATING
PROPERLY OR IF LIFT APPEARS
UNSAFE IN ANY WAY

REPORT CONCERNS TO SUPERVISOR IMMEDIATELY!

PRESTO OWNER’S MANUAL Page 10 POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

e Use lift on hard level surfaces only.

e Make sure load is evenly distributed, not
loose or unstable, and is as far back on platform
or forks as possible. Do not pick up loads on tips
or forks or edge of platform.

e For fork models, adjust forks to the maxi-
mum practical width. Pick up loads on both
forks.

e Do notoverload. Check load center and load
weight capacities on the nameplate.

e Make sure travel and work area is clear of
obstructions.

e Check overhead clearance before lifting loads
or transporting.

B. DAILY OPERATIONS
MAINTENANCE CHECKS:

1. Battery
A. Check for corroded and loose terminals.
A white powder substance will be present if
there is any existing corrosion.
B. Visually inspect for any cracks or damage
to the casing.
C. Check for loose battery tie-downs.
2. Charger
A. Inspect wire connections.
B. Check power cord for nicks/damage.
C. Check power charger for proper mounting.
3. Hydraulic System
D. Inspect pump and cylinder for oil leaks.
E. Check hydraulic oil level.
F.  Check hydraulic fittings and hoses.
G. Check ram for nicks/damage.
4. Frame Assembly
A. Check chain roller assembly connections.
B. Check for any worn or damaged parts.

VOLTAGE
ol Approx. 12.7V Fully charged
. e Approx. 122V 112 charged
BA -I ERY 3 Approx. 12.0 V 1/4 charged
= e Approx. 11.6 V Discharged

PRESTO OWNER’S MANUAL

Page 11

SECTION S
BATTERY MAINTENANCE

A. PREPARING TO CHARGE ABATTERY

1. Always turn off E-stop and key switch before work-
ing with the batteries.

2. Besure the area around the stacker and the battery
is well ventilated while battery is being charged.

3. The battery terminals, connections and wiring
connections should be clean and free of corrosion.
When cleaning any of these components wear a face
shield or other suitable protective eyewear.

B. BATTERY CHARGING

Charging must be performed with the charger that is
provided with or prewired into the machine. During
charging, the temperature in the battery must not exceed
120 F. Charging simultaneously with truck operation is
not recommended. Plug the charger into a 115V outlet.
Charge until the battery gauge indicator lights show
fully charged (approximately 6-8 hours).

C. WARNINGS AND BATTERY INFORMA-
TION

Avoid use of open flame near batteries. Attemperatures
around freezing point, battery capacity is reduced by
30%. The battery terminals, connections and wiring
should be clean and free of corrosion. When cleaning
any of these components, wear a face shield or other
suitable protective eyewear. Read, understand, and fol-
low all battery and battery manufacturer's specific pre-
cautions while working with and/or charging batteries.

D. BATTERY MAINTENANCE

To measure the voltage, use a digital voltmeter (DC) on
the battery poles. The truck must not have been in use
for the previous 30 minutes.

DANGER
Never alter the AC cord or plug provided. If it will
not fit outlet, have proper outlet installed by a quali-
fied electrician. Improper connection can resultin a
risk of an electric shock.

POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

1. Disconnect the charger from the 110 volt wall out-
let once the indicators read fully charged.

Note: The batteries are designed for intermittent
use. Continual usage will diminish the life of the
battery.

E. CHARGER OPERATION

Power Lamp

1. Green: Connection correct.
normally.

2. Red: Bad connection or bad battery.

Charger will operate

Fault

1. Red light blinks 3 times in 5 seconds: The output
between charger is faulty, loose, or bad connection

2. Red light blinks 5 times in 5 seconds: The tempera-
ture is too hot for the charger to operate.

3. Building power is not compatible; too low or too
high. +- 10% is the general rule.

Charge Lamp
1. Red: Charger can charge normally. The battery is
less than 70%

2. Orange:
charged.

3. Green: Battery is at 100%. Fully charged.

4. No light: The charger can not charge the battery.
\oltage of the battery may be too low to cause the char-
ger to start. It must be at 9 volts to initiate charge.

Battery is between 70% and 100%

SECTION 6
MAINTENANCE

Operation of Presto Power Stak is very simple — as is
their construction. They require very little maintenance.
Reasonable care will result in excellent trouble-free
performance. The Power Stak is designed for one-man
operation and ease of performance.
. Grease floor wheels and caster at least once a
month.

e Use only Hydraulic Oil AW32 or Dextron |11

in the hydraulic system.

* Do not overload your lift.

e Check brakes, steering mechanisms and con-

trols before each use.

PRESTO OWNER’S MANUAL

Page 12

A. WEEKLY OPERATIONS
MAINTENANCE CHECKS:

DAMAGE: Check for bent, dented, worn or broken
parts.

LIFT SYSTEM: Check to assure that there is no bind-
ing or excessive play in the forks. Check for quiet and
smooth operation of the lift cylinder. Check all moving
parts and linkage.

LEAKS: Check hydraulic system for leaks and hydru-
alic oil level.

WHEELS AND CASTERS: Check for wear and that
they are turning smoothly.

LIFT CHAINS: Check to see that they are in place
and not loose.

FORKS: Check that they are not bent or cracked.
BRAKES: Ensure brakes work properly.

CABLES; WIRES: Check that there are no loose
cables or wires.

LABELS: Ensure all precautionary labels and guards
are in place.

B. MONTHLY OPERATIONS
MAINTENANCE CHECKS:

1. Battery (maintenance free)
A. Clean terminals.
B. Clean battery compartment area if there are
signs of corrosion.

2. Hydraulic System

A. Clean and inspect hydraulic cylinder.

B. Lubricate chain with a rust inhibitive lubri-
cant (light machine oil).

C. Check chain tension. It should be even
on both chains. The chain should be tight
enough so that it does not come off of the
roller assembly.

POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

3. Frame Assembly « Check oil level
A. Clean and lubricate all roller bearings, cam
followers and all moving parts.

B. Clean and inspect all welds. 2. Forks will not lower
C. Check wheels for wear angl ?"?‘mage- * Look for binding in chains or rollers
D. Inspect nameplate for legibility. Place the
serial and model number shown on the name-
plate on the cover of the manual for future 3. No electrical power
reference. ]
Dead Batteries:
4. Electrical " Keyswitch on "OFF" position
A. Check batteries, motors, controllers, limit " E-stop button depressed
switches, electrical conductors and connec- . . .
tions. Loose or dirty battery connections
“ Blown fuse(s)
CAUTION: « Faulty wiring from fuse to travel control switch

DO NOTUSE LIFT IFIT ISNOT

OPERATING PROPERLY. * Faulty control switch

OR APPEARS UNSAFE IN ANY WAY! * Faulty wiring from travel control switch direction
contactor
* Faulty contactor
SECTION Y
TROUBLESHOOTING If the wheel is worn, replace wheel

Before starting the troubleshooting, you have to:

A. Put the truck on an even and solid surface.
B. Turn off key switch or disconnect the battery
terminals.

1. Unit will not lift (motor does not
run)

« Faulty wiring from fuse to lift switch in handle
* Faulty lift switch

* Faulty wiring from battery positive terminal to
pump contactor to pump motor

Burned out brushes in pump motor

Low hydraulic pressure caused by:
" Pressure relief valve needs adjustment
" Pump check valve stuck open
" Faulty solenoid valve

Faulty wiring from lift switch to solenoid

Faulty lift contactor

Defective control circuit fuse

Chain or roller bound

PRESTO OWNER’S MANUAL Page 13 POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

Figure 2:

PPS1500-62NAS

PRESTO OWNER’S MANUAL Page 14 POWERSTAK LITE PPS1500-62NAS



PPS1500-62NAS

Figure 3:

Exploded View

PRESTO OWNER’S MANUAL

PowerStak Lite
For Light Duty Use

Page 15

POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

Item [ Description

1000 |Body Weld

2000 |Balance Wheel
3000 |LegAssy

4000 | Lift Frame

5000 | Cylinder

7000 | Steering Assy
9000 |Power Unit

0001 | Battery Cover
0002 | Battery

0003 |Rear Box Cover
0004 | Key Switch

0005 | Battery Meter
0006 |E-Stop Switch
0007 | Charger

0008 | Electric Controller
0009 |Bolt M6X20
0010 | Spring Washer d6
0011 [Retaining Plate
0012 | Steering Round Cover
0013 | Mast Cover

0014 |Flat Washer 4
0015 | Spring Washer 4

Item [ Description

0016 |Bolt M4X12
0017 | Bolt M6X25
0018 | Chain Wheel Cover
0019 | Chain Wheel
0020 | Chain Wheel Shaft
0021 | Washer

0022 | Bearing 6006
0023 | Spring Washer 30
0024 | Chain LH1234
0025 |B-Pin8 x40
0026 |Pin25x12

0027 | Chain Pole

0028 |Pin2.5x25

0029 | Flat Washer 16
0030 | Nut M16

0031 | Nut M10

0032 | Nut M10

0033 | Cylinder Hoop
0034 | Flat Washer 10
0035 |Bolt M16X60
0036 | Nut M16

<
.
<

-1 K<l 1R EEl NN ORI N e Dl F T DS Fe e DCR DR P TR T Rl e

olo|r|r[r|MdINIR|IRIRIR[RIRINRIRIR[RIRIN RO

PRESTO OWNER’S MANUAL Page 16 POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

Figure 4:

Cylinder View
PPS1500-62NAS

T
. .

7 T
) P F__,.-‘ -
5006
7
5008
009

- ltem | Description Qty
5001 | Fitting 1
. 5| 5002 |ORing 1
d 5003 | Velocity Valve 1
iz 5004 [ Cylinder Barrel 1
A 5005 | Nut 1
5006 |URing 2
5007 | Piston 1
5008 | Spacer 1
5009 |ORing 1
5010 |Piston Rod 1
5011 | Wearable Ring 2
5012 [ Direction Sleeve 1
5013 | Dustproof Ring 1

PRESTO OWNER’S MANUAL Page 17 POWERSTAK LITE PPS1500-62NAS



Figure 5:

Caster Wheel View

PPS1500-62NAS

Item

Description

Qty

2001

Bolt M12X40

2002

Spring Washer 12

2003

Flat Washer 12

2004

Wheel Frame

2005

Bolt M12X90

2006

Wheel Side Cover

2007

Bearing Ring

2008

Wheel 125X56

2009

Sleeve

2010

Bearing 6203

2011

Nut M6

R[NP R[NP |R]D™D>

PRESTO OWNER’S MANUAL

PowerStak Lite
For Light Duty Use

Page 18

POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

T Zleso [ eees
T Z2-1009T Buiresg | zees

T (193ym Joy) abueld [ TEEL

T S71¢2-8009 Bunesg [ ogeL

T [3UM |  62EL

9 0ZX9WMod | 8zEL

1 weys | recel

T (1010w Joy) sbuel4 [ 9zEL

9 ZIX9NNod |  GeeL
2z 9 Jaysem Bunds | vzeL
T 1010 | €2€L
0T 9TX9NMNod | ZzeL
T TTbury deus | T2EL

1 ZTxsv Ay [ ozeL
T|8XGZTXGyTIedS 10| 6TEL

T GTXOSWINN | 8TEL

T Z2-1029 buuesg | /1€
bO :o_ug_._omwn_ wial|

1 GT Bury deus | 9TEL
T| LxSZxgresspo| sres
1 QT Xvv A [ vTEL
€ OF XSWod | €ETeL
T | T-90-90S plo4 yono | ztes
T Zl18n0D | TIEL
14 Ozxgud| 0TEL
0T 9TXSWNNod |  60EL
T TI19A0D | 80€EL
T Nz0z9 Buiresg [ 20€L
T T 139
T J9oedg
1 2029 Bulresg
T 9IXV 1ea)
1 02 X GV Aoy
1 awelo [98YM\
T 193YM @Al
Ad uondiuosag

SVNZ9-00STSdd
MBIA 11UN 9ALQ

H-dd-CERI-11,3 [ 11 2PER

£§8y 1a9ym a1

:9 a1nbi4

POWERSTAK LITE PPS1500-62NAS

Page 19

PRESTO OWNER’S MANUAL



Figure 7:
Control Pod
PPS1500-62NAS

PRESTO OWNER’S MANUAL

PowerStak Lite
For Light Duty Use

Page 20

Item

Description

Qty

7101

Screw M6X12

7102

Handle Bottom Cover

7103

Front Button

7104

Electrical Outlet (big)

7105

Electrical Outles (small)

7106

Left Handle Cover

7107

Upper Cover

7108

Spring

7109

Horn Button

7110

Button Group

7111

Right Handle Cover

7112

Bolt M3X10

7113

Washer

7114

Switch Cover

7115

Switch

S T= [N I N3 FRegy iRy R R e N e e N Y

POWERSTAK LITE PPS1500-62NAS




PowerStak Lite
For Light Duty Use

Figure 8: Steering Assembly
PPS1500-62NAS

Item Description Qty

7100 Handle

7200 Drive Wheel (350W)

7001 Handle Pipe Weld

7002 Snap Ring 8

7003 Holder

7004 Pin

7005 Air Spring

7006 Bolt M8X30

7007 Flat Washer 8

7008 Spring Washer 8

7009 Nut M8

7010 Washer

7011 Spring Washer 6

7012 Bolt M6X12

7013 Bolt M10X30

7014 Spring Washer 10

7015 Bearing 33013

7016 Bolt M10X30

7017 Spring Washer 10

7018 Cover Holder

7019 Bolt M6X25

7020 Spring Washer 6

7021 Flat Washer 6

7022 Nut M6

7023 Nut M4

7024 Travel Switch

7025 Flat Washer 4

7026 Short Screw

7027 Bolt M4X25

7028 Round Nut M52X1.5

7029 Lock Washer 52

N N LS ISR BN SN SN ESE ESH RSN ST e BN I Y B IV ISR IR IR e P PN IS IV IS ISR I I N IS

7030 Handle Connect Base

7031 Round Nut M56X2

7032 Washer

7033 Bearing 61812

7034 Oil Fitting M8X1

7035 Drive Wheel Holder

7036 A-Flat Key 8X45

Rl R ]~ ]|~

7037 Steering Base Weld

PRESTO OWNER’S MANUAL Page 21 POWERSTAK LITE PPS1500-62NAS



Figure 9:

For Light Duty Use

PowerStak Lite

Power Unit View
PPS1500-62NAS

Item

Description

9101

Motor

9102

Solenoid valve

9103

Check valve

9104

Screw

9105

Center block

9106

Relief valve

9107

Flow control valve

9108

Connect shaft

9109

O ring

9110

Ruturn pipe

9111

Gear pump

9112

Suction pipe

9113

Filter

9114

Plastic tank

9115

Bolt

N NN R R R e
—
<

PRESTO OWNER’S MANUAL

Page 22

POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

Figure 10:

Carriage Assembly
PPS1500-62NAS

4016
400
m /| ) ?4015
Item Description Qty
4002 Nut M6 4
4003 Bolt M6X30 4
4004 Middle Plate 4
4009 Fork Shaft 1
4011 Adjustable Plate 4
4012 Bearing 6307 4
4013 Wheel Sleeve 4
4014 Snap Ring M35 6
4015 Snap Ring M80 4
4016 Fork 2
4017 Lift Frame 1

PRESTO OWNER’S MANUAL Page 23 POWERSTAK LITE PPS1500-62NAS



Figure 11:

PRESTO OWNER’S MANUAL

PowerStak Lite
For Light Duty Use

Leg Assembly
PPS1500-62NAS

Page 24

Item

Description

Qty

3100

Leg

3001

Front Wheel

3002

Bearing 6204

3003

Snap Ring 20

3004

Front Wheel Shaft

RININ[R |-

POWERSTAK LITE PPS1500-62NAS




PowerStak Lite
For Light Duty Use

Figure 12: Labels & Precautionary Warnings

“ON 18vd

NOIdIFD530 _ MO wan h

39 ISNW S33SN ONINIVYM i 05'8X5¢°¢ 100 d1| v3 l l rS

9/86£001|9

8/86£001 |V S43d1d ON OO'EX00E1DA AT v3 | ¢ 4
NSS1D|8 VHd1Y O15338d 00°EX00°2 L 100 d1-39| V3 l €

£620v00L|Y ¢ 1'959 AWSY OL AFANLOVANNYW 14N OVL Al 434 | € ¥
159 1DV dIADVIS A1V1d IWVYN L87IX0S'EOVLAT-NE VI | € S

9068v001 |V ¥Z 1v 810051 ALIDVYdYD §2°EX00C 100 d1| v3 l g

dIAOD d3ANN IWVEL INIHOVW NO JIVIOOT «

O

LM

40 HY3TD VLS
e
e ity Bumiasy
0 3000 Bue
SHHOS HIONN
ONYLS LON 00

-

|
R
3
0
n)
p.
S
e
<

£/

POWERSTAK LITE PPS1500-62NAS

Page 25

PRESTO OWNER’S MANUAL



¥ ‘NOISIATY LV 349 LS ONIAMYHA SIHL

Bk CELLULIUERE LD TITI TIOORT ) 3433000 NILLIEM 01 JILIA1T
¥ SOEPOGOR (OLSY WV1SH3ImOd Hyvy 13 NOTLYNADOANT KavwL3[HADHd 40 350
b/E A LOEPDOQE ToamaaTE o *__ﬁ_m_uﬂ_”_uﬁ_“_m NO1L23r0ud
— E ﬂz_u__u..__._uln__mm 2 WONGOHT ONY EOLZ0 VM D908 | L eHEELE 0g |E B 1MHIHLD SSINM | Jyany e
5 5F S A
m_“_-m.wm“ o H ONITONYH T7LHILYN 3ATAOTHON S1dIN Ol1S3dd m_wm._w uhwmq _WUA@
‘ON 14vd MO 1J[42530 ALD | WALD |/ 1F SHOLLOYYS
pREFOO0E | H O¥3H 1H13 ¥1SHMA 9%10 NNOD 13 434 | d%3H 1041LWO7
SeLFQ008 | H SSANHYH TN ALSHML OV 10 NNOD T3 434 i S5 AMHYH-OIM
989£F000% | 4 SSINHYH JHIM MISHM D10 NNDD T3 | 434 £ 3748 7 NdH
18F0008 | 4 WS AW ¥ W0 13NH MISHMS OVIQ0 MNOD 13 | 43H b AW F 399D 1304
88ZF0008 | H SSINHYH JHIM MISHMG 910 NNOD 13 | 43 G HITTOHLNDD ¥ *ISIK
RHLFOO0E | H SSANHYH JHIR ALSHMd OO0 WNOD 13 434 9 *INOD A 4HAHOA
06ZF0008 | H SSANHYH JHIM W1SHML 910 NWOD T4 434 l 53718%0 HIM0d

POWERSTAK LITE PPS1500-62NAS

PowerStak Lite
For Light Duty Use

CTSHOLIINNGD 3% LV 14 3087 1)
"HIHDTH ONY 2053080 40 5 ,# V1435 HLIM SAVLSHINOd 404 SWYHov

SS310N

"o SN

o3anodddy

alwa

HOTLd1E2534

A3d

€T a4nbi4

Z0£70008

1T0Z Asenuer 0} Jolid

Page 26

PRESTO OWNER’S MANUAL



PowerStak Lite
For Light Duty Use

V0 NOISIATY LY 39 LSNIN ONIMVEA SIHL

T HHRT TR S TIOR INFNTIHIY NILLIE OL 03100
L FRZPO00R O¥3IH THLD HLSHMd IVI0 NNDD 13 MO LYWHD 4HL A4 13(Hd0dd 41 35N
— LT T
T o ELECEREE 03140335 | ™
31 %q 5 37w e 35 IM4IHLD 553THN __u._A_.u__mqu_a_uaﬁ_mn_ ©
SHOLLNTOS JINOMI2HI OMY S L oo +
ALwa 43 4 503 5370 — 1LIHA
80-51-01 BN JHITONSYH TW1HALYW 301M07TH0M m.—.‘.— o.—.wmﬂﬂ LM." AX *-...T_,.mww
— = 00cF e —
0N Led HO1Ld[42530 a0 | WALy | slE sHlLwy &
EIRE]
[T}
=]
HeT AW NOTT3A ® M
2
2
=
g
- ] =
— WS 7% WGTTT e =
T7an JALI3MN0D L b=
ILTHN TWIaIv T [TRRED ®
1% 1907 18
J_ [ERE [ WOTTIE &
_ [PERLIEIRIED ang =I=l| .
| TLTHR AN Ol_lo I+11HI349 ¥
I [l ELIERT =
- _ T | b HLIND &t HLIND _.n_u._ I5HINTH AONITNINI i
== E— IR JONYHD 0|_| .
o i _ HNOHE aNTE LH21T E
2= | a0 e -
25 | L# HLIMD T
= # HLIND
B R [+h5 1034
- | T+RS 1034 La HLOND . gt]
_ T+AE AT d T+AE AT r_ " [+1 183349 iR -1
_ [+ INITHD [+LIN33HT LHITT MMDa
||||| | FOTE EIWE(NE] —1
dn
NG LK - 1+451034
dn
3005
[FAFZRO N/S WOH4) ECIE L ERELE I
ON M 3A0HAY aLwd HOI Ld 180530 73y SMIWIN O¥3H T04LNDD SNOLL23NNDD
yeerI00E — g
TT0Z Arenuer 0] Jolid

7T a4nbi4

POWERSTAK LITE PPS1500-62NAS

Page 27

PRESTO OWNER’S MANUAL



PowerStak Lite
For Light Duty Use

© Sezv000s8

Vi NOISIATY LYV 39 LSIW ONIMVEA STHL

SSINUVH 3YIM ¥LSHM 9¥10 NNDD 13

L1Tv Ol O

e

9 ZE0008 -

90-G4-01

BN

HOTLdl42

SN OL1SIAd

582r0008 — [

TT0g Asenuer 0} Jolid

:GT a4nbi4

POWERSTAK LITE PPS1500-62NAS

Page 28

PRESTO OWNER’S MANUAL



PowerStak Lite
For Light Duty Use

T 10-15-0B

MDH

B— anonazas

=y
80004286

(34

L 1J

EL COMM DIAG PWRSTE WIRE HARNESS

e 80004277

Prior to January 2011

Figure 16:

PRESTO OWNER’S MANUAL Page 29 POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

¥ NOISIATY LV 39 LSO ONIAMVHA STHL

o FIERTH R WT -9 . TITT TITRT | INIT60T NALLIEN, O 311017
¥ JASFPGOOE | MS AJW ¥ ¥D 73N MLSHMd O¥I10 NNOZ 14 NOTLYNAOND Le¥L3[Hd0Hd 30 35N
— T L
bk . FEA 11 B 031412345 ;
o - B— T I5IAH3HLD 5531 | MoA3red
L al  SHOILNTDS JTWONOOHI ON¥ L aE e~ B e~ SF STION
B-51-0) BoW | ONITONYH TYIHILW 30HOTHON W.—L—-— O.—.mnﬂm ;_m.ﬂ Ax .ﬁ-..T_.m.”_.“*
- : GO0*F —
‘ON 1Yvd HOI L[ 43530 ALD MLl Sbx SHOLLIYHS
Ll
T
— | LOH1034 —]
TR L ARED _ =
El
)
m
A
==
.
10351 L0OW) TGN B IRRET ._,,,, 94 FCO0E-4
L SSINETH
/ PATRER s RTETEEI AN
'
\.ﬁ 4 10H 034 Vo)
T ——
I
39N¥9 T30 _
| @ @ \ =
| 2
L @ @ |/ =
-
e :/T a4nbi
1015
3414 WOH J3IN3L0A
oM FETTTE ] 31w WOTLd183530 3 SMOTLI3HHOT
LB&r0008 Y 110Z Asenuer 01 Jolid

POWERSTAK LITE PPS1500-62NAS

Page 30

PRESTO OWNER’S MANUAL



PowerStak Lite
For Light Duty Use

J¥iNOISIATY LV 39 LSNIN ONIMVAHA SIHL

 8zp0008

SSINUVH 3HIM ¥LSHMd OVIO NNOD 13

I% WALLTHM 01 0

L

..m 61ZFD00R -

90-51-01__

HOW

S e S1NO0LS3¥d

=

O

) |
7

88¢p0008 -

TT0Z Asenuer 0] Jolid

:8T a4nbi4

POWERSTAK LITE PPS1500-62NAS

Page 31

PRESTO OWNER’S MANUAL



PowerStak Lite
For Light Duty Use

 6azp000R

JNFONOISTIATY LV 349 LS ONIAMVIA STHL

SSINUYH IIN WLSHMd OY10 NNDD T3

e

™ VZED00E -

90-51-01

E

HOTLdl4

~ SliNolsIud

682r0008 — (]

TT0Z Atenuer 0} Jolid

6T 24nbi4

POWERSTAK LITE PPS1500-62NAS

Page 32

PRESTO OWNER’S MANUAL



PowerStak Lite
For Light Duty Use

Vi NOISIATY LV 39 LSO ONIMVHA STHL

 0BZRO00R

SSINHVH 3UIM ¥LSHMd OVIO NNDD T3

W, 01 03

bE

" 28zF0008

90-84-01

HOW

0620008 —(J

TT0Z Atenuer 01 Jolid

:0Z a4nbi4

POWERSTAK LITE PPS1500-62NAS

Page 33

PRESTO OWNER’S MANUAL



PowerStak Lite
For Light Duty Use

Lld

HOLMS WOd /dN ITANWH

HDLMS NdOH

HOLMS LW T Dvdd

AVC 20€dS
dNOOS 14v1S

i

B

YvSSIACL

YvSSIACL

=

5]

VOT 01-S4
N
V08
N b

g
=
- T oseTeNaz _ 3 o o
= ] & a1z
3 a] N 2 2 2 - 3| toMs @153 28
o o N om
HOLMS A & g -
o £
]
o
el O ©| O[O
= S S| S (Wi
E w N | —
06Z-41241T
m B amoon MBL/AYZOa
{
|| o o nvad © Nnnitj
91d| AAAS STd
[ |
_H_ H 9 m WZX  iTT¥2-8221AdO
= ° ora Y| souon aaria 4ITOUINDD 3A 1
P T4
o
MOSE/AYZOa
JU3Sald 01 TT0Z Arenuer :T2 24nBi4

POWERSTAK LITE PPS1500-62NAS

Page 34

PRESTO OWNER’S MANUAL



PowerStak Lite
For Light Duty Use

8}
=M
TUUS ‘0AY NIRD @/ WS 0N D MANOTTIA
0
0
s Q) 1
~ N
2 I YGE % Tus 0N WOHS N : : : QWS 0N N MAOTTIA
5 —
s -
= ©
a »
o
) - E
Tuug 0N a3y 0 s o N8 10N
z
£ _~ "
h 2
Bl 2 N
&
E S ﬁ <
[<b] &« [a)
N z 3
(D) g 1
5 Tuus 0N 3y Qs 0N PWD U 0Ny N MADTTIA
o .
+— y)
—
- B ° TS 0N NITD
8 H @ Oz owNOTEA
> 2 = s 0N ¥ DV
- 8 5 TS 0N N M NOTTIA
g ol Qs 0 18
c ! Twus 0Ny 3L K
Ieo] ~
—
TG 0N 9L NIRD ”
£ o
HHER g
; | s
7 == S| & &
- o~ - % g
=7
£ z A o
g < IEIE g g
£ =
s| 4 = TS 0N 9NDAOTIANDHOTEA
z| = N
i
Q E X pl
o< =
] - o 111
DZS a9 WG 0N 1 -3 TNd NITD
< .
Q TS 0N TLAN Id Tuus oY NIFD
)
£ © =
9 N ”
: 2 §
2 o
o]
o<
o |
— O ! |
z +
TWIYLAY NIID
O
.. N
N w9 LAY a3
N
@
5 %J—l WA a3y TWUpAY NIRD
> = ;
L Bk
Z
WS ‘0Ad N9 D 1T s ‘0AY NYO MMOTTA S "0Ad NEO MMOTTIA I@J
— ”
°
~——Jruuszay sove °Te w9 IAY A TUUSTAY YDV8 E
)
§ =
N TUUSTAY SDVE
», |
E
: 9
§ &
1
"__| || I|| Ay HDV1E !
aly
= +
TwupAY a3y

PRESTO OWNER’S MANUAL Page 35 POWERSTAK LITE PPS1500-62NAS



January 2011 to Present

Figure 23:

PRESTO OWNER’S MANUAL

PowerStak Lite
For Light Duty Use

Page 36

POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

Ordering Replacement Parts

Presto Lifts has carefully chosen the components in your unit to be the best available for the purpose.
Replacement parts should be identical to the original equipment. Presto Lifts will not be responsible
for equipment failures resulting from the use of incorrect replacement parts or from unauthorized
modifications to the unit.

Presto Lifts can supply all replacement parts for your lift. With your order, please include the model
number and the serial number of the unit. You can find these numbers on the name plate. This plate
is located within the cabinet, or the angle iron cylinder cross support.

To order replacement parts, please call the Presto Parts Department. Parts are shipped subject to the
following terms:

» FOB factory

Returns only with the approval of our Parts Department.

Credit cards preferred (except parts covered by warranty).

Freight collect for truck (except parts covered by warranty).
* Freight - prepaid and invoice for small parcel shipments (except parts covered by warranty).

Parts replaced under warranty are on a “charge-credit” basis. We will invoice you when we ship the
replacement part, then credit you when you return the worn or damaged part.

Presto Lifts Parts Department
21 Park Street, Attleboro, MA 02703

Telephone: 800-343-9322
FAX: 888-788-6496
Email: Service@PrestoLifts.com

www.PrestoLifts.com

PRESTO OWNER’S MANUAL Page 37 POWERSTAK LITE PPS1500-62NAS



PowerStak Lite
For Light Duty Use

RESTOCKING POLICY

PARTS

Standard parts may be returned with a 20% restocking fee. Modified or custom-engineered parts
are not returnable. Unfortunately, due to potentially concealed damage, all sales of electrical
assemblies are final.

QUALITY ISSUES

Should you feel there is a quality problem, please contact the seller to ask questions and gather
information on how to rectify the issue. Presto Lift Inc. reserves the right to determine potential
credits, as a result of factory defects, based on its inspection of the merchandise.

GENERAL

All products shipped from our factory have passed Quality Assurance inspection and testing.
The carrier of choice has signed for, and accepted the product in new working condition. The
customer should inspect to ensure it is not received damaged, has no concealed damage or is not
incomplete. Parts orders are determined to be complete based upon Presto Lift, Inc. inspection
sheets and carrier shipping weights.

PRESTO OWNER’S MANUAL Page 38 POWERSTAK LITE PPS1500-62NAS



MANY NEEDS REQUIRE MANY OPTIONS...
Presio

LET PRESTO MEET THOSE NEEDS!

Call Presto Sales
for stock or
customized lift inquiries:

800-343-9322

Email: sales@prestolifts.com



